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2. The test is of 38 hours duration and Test Booklet
contains 180 questions. Each question carries 4
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marks are 720.

3. Use Blue/Black Ball Point Pen only for writing
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Select thp incorrect statement.
¢)) Inbféedihg increases homozygosity.

(2 Inbreeding is essential to evolve purelines
in any animal. -

(3) Inbreeding selects harmful recessive genes
that reduce fertility and productivity.

@ Inbfeedin’gkhelps in accuinulatioh of superior
genes and elimination of undesirable genes.

Which of the statements given below is not true
about formation of Annual Rings in trees ?

(1)  Annual ringis a combination of spring wood
and autumn wood produced in a year.

(2  Differential activity of cambium causes light
and dark bands of tissue - early and late
w_ood respectively.

(3)  Activity of cambium depends upon variation
in climate.

(4)  Annual rings are not prominent in trees of
temperate region. -

Under which of the following conditions will there
be no change-in the reading frame of following
mRNA ?. - s

5 AACAGCGGUGCUAUU 3
(1) Insertion of G at 5th position
@  Deletion of G from,5th position

(3  Insertionof Aand Gat 4th and 5th positions
respectively

@  Deletion of GGU from 7th gth gpd oth
positions
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4.

The frequency of recombination between gene pairs
on the same chromosome as a measure of the
distance between genes was explained by :

(1) T.H.Morgan
@  Gregord.Mendel
(3)  Alfred Sturtevant
4)  Sutton Boveri

Which of the following contraceptive methods do
involve a role of hormone ?

()  Lactational amenorrhea, Pills, Emergency
‘ contraceptives

(2  Barrier method, Lactational amenorrhea,
Pills

()  CuT, Pills, Emergency contracepﬁves

(4 Pills, Emergency contraceptives, Barrier
methods

Which of these following methods is the most
suitable for disposal of nuclear waste ?

(1) Shoot the waste into space
(2  Bury the waste under Antarctic ice-cover

(3)  Dump the waste within rocks under deep
ocean

(4  Bury the waste within rocks deep below the
Earth’s surface

Which of the following glucose transporters is
insulin-dependent ?

() GLUTI
@ GLUTII

@ GLUTIII
@ GLUTIV

The ciliated epithelial cells are required to move
particles or mucus in a specific direction. In
humans, these cells are mainly presentin:

(1)  Bile duct and Bronchioles

(2  Fallopian tubes and Pancreatic duct
(3)  Eustachian tube and Salivary duct
(4 Bronchioles and Fallopian tubes
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10.

11.

12,

13.

Which one of the following statements regarding
post-fertilization development in flowering plants
is incorrect ?

(1)  Ovary develops into fruit
(2  Zygote develops into embryo
(3)° ~Central cell develops into endosperm

@ lOvules develop into embryo sac

Which of the following factors is responsible for
the formation of concentrated urine ?

(1)  Low levels of antidiuretic hormone.

(2) Maintaining hyperosmolarity towards inner
medullary interstitium in the kidneys.

(3 Secretion of erythropoietin by
Juxtaglomerular complex.

(4  Hydrostatic pressure during glomerular
- filtration.

It takes very long time for pineapple plants to
produce flowers. Which combination of hormones
can be applied to artificially induce flowering in
pineapple plants throughout the year to increase
yield?

@ Auxm and Ethylene

2)  Gibberellin and Cytokinin
(3)  Gibberellinand Abscisic acid
(4)  Cytokinin and Abscisic acid .

Which of the following is a commercial blood
cholesterol lowering agent ?

@ Cycllospori'h'A‘

(2) Statin
(8)  Streptokinase
4  Lipases -

Which of the following immune responses is
responsible for rejection of kidney graft ?

(1) Auto-immune response
(2  Humoral immune response
3) Inflammatory immune response

4  Cell-mediated immune response
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14.

15.

16.

17.

18.

19.

Extrusion of second polar body fromegg nucleus
occurs :

(1) after entry of sperm but before fertilization
2  afterfertilization
(3  before entry of sperm into ovum

4  simultaneously with first cleavage

Which of the following muscular disorders is
inherited ?

@) .- Tetany

(2) - Muscular dystrophy
(3). . Myasthenia gravis
4  Botulism -

Xylem translocates :

(1) Water only

(2 Water and mineral salts only -

(3  Water, mineral salts and some organic
nitrogen only

(4)  Water, mineral salts, some organic nitrogen
and hormones

How does ster01d hormone influence the cellular

act1v1t1es ?

4)) Changmg the permeab1l1ty of the cell
membrane.

@ Binding to DNA and forming a
gene-hormone complex.

(3  Activating cyclic AMP located on the cell
membrane.

@ Us1ng aquaporm channels as second
messenger.

In some plants, the female gamete develops into
embryo without fertilization. This phenomenon
is known as :

1)  Autogamy
(2) Parthenocarpy

‘(8  Syngamy

(49  Parthenogenesis

" Which of the following ecolog1cal pyranuds is

generally inverted ?

(1) Pyramid of numbers in grassland
(2 Pyramid of energy

(3  Pyramid of biomass in a forest -

(49  Pyramid of biomass in a sea
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20.

21.

22,

23.

24.

Drug called ‘Heroin’ is synthesized by :
(1)  methylation of morphine

2 acetylation of morphine

(3) glycosylation of morphine

4) nitration of morphine

Which of the following pair of organelles does not
contain DNA?

1 Mitochoﬁdria and Lysosomes
(2)  Chloroplast and Vacuoles
3) Lysosdmes and Vacuoles

(4)  Nuclear envelope and Mitochondria

Consider foHoWing features:

(8  Organ system level of organisation

(b)  Bilateral symmetry

© True coelomates with segmentation of body

Select the correct option of animal groups which
possess all the above characteristics.

(1)  Annelida, Arthropoda and Chordata
2  Annelida, Arthropoda and Mollusca
(3)  Arthropoda, Mollusca and Chordata
(4)  Annelida, Mollusca and Chordata

Select the correctly written scientific name of
Mango which was first described by
Carolus Linnaeus :

(1) Mangiferaindica Car. Linn.
(2  Mangiferaindica Linn.

3  Mangiferaindica

4  Mangifera Indica

What is the fate of the male gametes discharged
in the synergid ?

(1)  Onefuseswith the egg, other(s) degenerate(s)
in the synergid.

(2  Allfuse with the egg.

(8)  One fuses with the egg, other(s) fuse(s) with
synergid nucleus.

(4)  One fuses with the egg and other fuses with
central cell nuclei.
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25.

26.

27,

28.

Select the correct sequence of organs in the
alimentary canal of cockroach starting from
mouth :

(1) Pharynx — Oesophagus — Crop —
Gizzard — Ileum — Colon — Rectum

(2)  Pharynx — Oesophagus — Gizzard —
Crop — Ileum — Colon — Rectum

)  Pharynx — Oesophagus — Gizﬂzar‘d -
Ileum — Crop — Colon — Rectum

(4) Pharynx — Oesophagus — Ileum —
Crop — Gizzard — Colon — Rectum

Which of the following is true for Golden rice ?

(1)  ItisVitamin A enr1ched with a gene from
daffodil.

(2 It is pest resistant, with a gene from
Bacillus thuringiensis.

(3 It is drought tolerant, developed using
Agrobacterium vector.

(4 It has yellow grains, because of a gene
introduced from a primitive variety of rice.

Respirafpory Quotient (RQ) value of tripalmitin is -

1 09
@ 07
@ 0.07
4 0.09

Which of the following statements is correct ?

(1)  Cornea is an external, transparent and
protective proteinacious covering of the
eye-ball.

(2 Cornea consists of dense connective tissue

of elastin and can repair itself.

(3  Corneais convex, transparent layer which
is highly vascularised.

4 Cornea consists of dense matrix of collagen
and is the most sensitive portion of the eye.
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32.

@

Which of the following statements is not correct ?

@® -

Lysosomes have numerous hydrolytic

enzymes.

2  The hydrolytic enzymes of lysosomes are
active under acidic pH.

(3)  Lysosomes are membrane bound structures.

(d) Lysosomes are formed by the process of

packaging in the endoplasmic reticulum.

Match the following genes of the Lac operon with
their respective products

(@ 1igene @ B-galactosidase
(b) zgene (i) Permease

(¢). agene (i) Repressor

(d  ygene @iv) Transacetylase
'Select the correct option.

@ b @© @@

O O @ @ w

@ @ & @

@ @ @O @ @

@ -G v O

Select the correct option.

(1) 8th gth and 10th pairs of ribs articulate

‘directly with the sternum.

"11th and 12th pairs of ribs are connected to
the sternum with the help of hyaline
cartilage.

Each rib is a flat thin bone and all the ribs
are connected dorsally to the thoracic
vertebrae and ventrally to the sternum.

)

There are seven pairs of vertebrosternal,
three pairs of vertebrochondral and two pairs
of vertebral ribs.

@

Which one of the following is not a method of
in situ conservation of biodiversity ?

@ Bi_ospheré Reserve
2  Wildlife Sanctuary
(3) Botanical Garden
4  Sacred Grove
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33.

34.

35.

36.

Select the incorrect statement.

(1)  Male fruit fly is hetefogametic.

- @ Inmale grasshoppers, 50% of sperms have

no sex-chromosome.

(3 In domesticated fowls, sex of progeny
depends on the type of sperm rather than

egg.

(4 Human males have one of their
sex-chromosome much shorter than the
other.

Which of the following features of genetic code does
allow bacteria to produce human insulin by
recombinant DNA technology ?

(1)  Genetic code is not ambiguous
(@  Geneticcode is redundant
(3  Genetic code is nearly universal

(4  Genetic code is specific

What would be the heart rate of a person if the
cardiac output is 5 L, blood volume in the ventricles
at the end of diastole is 100 mL and at the end of
ventricular systole is 50 m1L, ?

(1)  50beats per minute
(@  75beats per minute
(3) 100 beats per minute
(4 125beats per minute.

‘Match the following organisms with their

respective characteristics :

@ Pila @ Flame cells

®.  Bombyx @i Comb plates

(©  Pleurobrachia ‘(1)) Radula

@ Taenia (iv) Malpighian
tubules

Selelct the correct option from the following :
@ M @© @

® @ @ O G

@ @ & @ @

@ @ (v @ 6

@ @@ @ W 0
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38.

39.

40.

41.

Variations caused by mutation, as proposed by
Hugo de Vries, are :

@)

random and directional

2 random and directionless
@) small and directional
(4)  small and directionless

Tidal Volume and Expiratory Reserve Volume of
an athlete is 500 mL and 1000 mL respectively.
What will be his Expiratory Capacity if the
Residual Volume is 1200 mL ?

(1) 1500 mL
@ 1700 mL
()  2200mL
@ 2700 mL

Following statements describe the characteristics
of the enzyme Restriction Endonuclease. Identify
the incorrect statement.

(1)  The enzyme cuts DNA molecule at identified
position within the DNA.

(2  The enzyme binds DNA at specific sites and
cuts only one of the two strands.

(3) The enzyme cuts the sugar-phosphate
backbone at specific sites on each strand.

(4 The enzyme recognizes a specific

palindromic nucleotide sequence in the DNA.

What triggers activation of protoxin to active Bt
toxin of Bacillus thuringiensis in boll worm ?

(1) Body temperature

2  Moist surface of midgut
(3)  Alkaline pHofgut

4  AcidicpH of stomach

Identify the cells whose secretion protects the lining
of gastro-intestinal tract from various enzymes.

()  Chief Cells

@  Goblet Cells

8) OxynticCells
(4  Duodenal Cells
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42,

43.

44.

45.

Pinus seed cannot germinate and establish
without fungal association. This is because

(1)  itsembryoisimmature.
(@  ithasobligate association with mycorrhizae.
(3  ithasvery hard seed coat.

(4)  its seeds contain inhibitors that prevent
germination.

Which part of the brain is responsible for
thermoregulation ?

(1) Cerebrum
(@) Hypothalamus
3  Corpus callosum

4  Medulla oblongata

In a species, the weight of newborn ranges from
2 to 5 kg. 97% of the newborn with an average
weight between 3 to 3.3 kg survive whereas 99%
of the infants born with weights from 2 to 2.5 kg
or 4.5 to 5 kg die. Which type of selection process
is taking place ?

(1)  Directional Selection
(2 Stabilizing Selection
(3)  Disruptive Selection
(4)  Cyclical Selection

Use of an artificial kidney during hemodialysis
may result in :

@ N itrogenous waste build-up in the body
()  Non-elimination of excess potassium ions

©  Reduced absorption of calcium ions from
gastro-intestinal tract

(d  Reduced RBC production

Which .of the following options is the most
appropriate ?

(1) (a)and (b) are correct
(@  (b)and (c) are correct
(3  (c¢) and (d) are correct

@  (a) and (d) are correct
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Placentation, in which ovules develop on the inner
wall of the ovary or in peripheral part, is :

(1) - Basal -
@  Axile
3) Parietal.

(4)  Free central

Consider the following statements.:

(A) Coenzyme or metal ion that is tightly bound
to enzyme protein is called prosthetic group.

) A_‘compl'e:te catalytic active enzyme with its
bound prosthetic group is called apoenzyme.

Select the correct option.

(1) = -Both (A) and (B) are true. -
@  (A)istrue but (B) is false.
(3) Both (A) and (B) are false.
@)  (A)is false but (B) is true.

Match the Column - I with Column - 11 :

Column -1 Column -11

(a P-wave @ Depolarisation of
ventricles

(®b) QRS complex @) Repolarisation of
ventricles

(© T - wave @ity  Coronary
ischemia

@ Reductioninthe (@v) Depolarisationof

-« size of T - wave atria

\%) Repolarisation of
atria

Select the correct option.

@ ® © @
O @ O @ G
@ ™ 60 @ ©
® @ 0 © G
@ ® G &
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49.

50.

51.

52.

53.

54.

Which of the following protocols did aim for
reducing emission of chlorofluorocarbons into the
atmosphere ?

@
@
3
@

Montreal Protocol
Kyoto Protocol
Gothenburg Protocol

Geneva Protocol

Polyblend, a fine powdes of recycled modified
plastic, has proved to be a good material for :

@®
@)
)
@

making plastic sacks
use as a fertilizer
construction of roads

making tubes and pipes

Which of the following can be used asa biocontrol
agent in the treatment of plant disease ?

(1)  Trichoderma
@  Chlorella
3)  Anabaena
4)  Lactobacillus

Which of the following sexually transmitted
diseases is not completely curable ?

(1 Gonorrhoea

@  Genital warts
(3  Genital herpes
4. Chlamydiasis

Thiobactllus is a group of bacteria helpful in
carrying out :

@
@
&)
@

Nitrogen fixation
‘Chemoautotrophic fixation
Nitrification
Denitrification

Colostrum, the yellowish fluid, secreted by mother
during the initial days of lactation is very essential
to impart immunity to the newborn infants because
it contains :

(1)  Natural killer cells
(2  Monocytes

(3)  Macrophages

4  Immunoglobulin A
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The Earth Summit held in Rio de Janeiroin 1992
was called :

(1) to reduce CO, emissions and global
warming.

(2 for conservation of biodiversity and
sustainable utilization of its benefits.

(3)  to assess threat posed to native species by
invasive weed species.

@) for immediate steps to discontinue use of

CFCs that were damaging the ozone layer.

Match Column - I with Column - 11.

Column -1 Column -11

(@ Saprophyte @ Symbiotic association of .
fungi with plant roots

(b) Parasite G) Decomposition of dead
organic materials

(© Lichens Gii) Living on living plants
or animals

@ Mycorrhiza (iv) Symbiotic association of

algae and fungi

Choose the correct answer from the options given
below :

@ b ©@ @
®» O @ @
@ G @ O @
® @ O @ @)
@ @ @ W o

Purines found both in DNA and RNA are :

(1) Adenine and thymine
(2  Adenine and guanine

(3  Guanine and cytosine
(4)  Cytosine and thymine

What is the direction of movement of sugars in
phloem ?

(1)  Non-multidirectional
@2  Upward

.3 Downward
(4)  Bi-directional
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60.

61.

62.

63.

64.

The correct sequence of phases of cell cycleis:
® MG >5G,—S
@ G >G;—>8S->M
® S8S-5G -5G,->M
@ G —-58S-5G,-»>M

Select the hormone-releasing Intra-Uterine
Devices.

(1 Vaults, LNG-20

(2 Multiload 375, Progestasert
(3  Progestasert, LNG-20

4  Lippes Loop, Multiload 375

A gene locus has two alleles A, a. Ifthe frequency
of dominant allele A is 0.4, then what will be the
frequency of homozygous dominant, heterozygous
and homozygous recessive individuals in the
population ?

(1)  0.36(AA); 0.48 (Aa); 0.16 (aa)
(2 0.16(AA); 0.24 (Aa); 0.36 (aa)
()  0.16 (AA); 0.48 (Aa); 0.36 (aa)
(4)  0.16(AA); 0.36 (Aa); 0.48 (aa)

Conversion of glucose to glucose-6-phosphate, the

first irreversible reaction of glycolysis, is catalyzed
by :

(1)  Aldolase

(@  Hexokinase

(30  Enolase

(49  Phosphofructokinase

The shorter and longer arms of a submetacentric
chromosome are referred to as :

(D  s-armandl-arm respectively
@  p-armand g-arm respectively
(3  q-armand p-arm respectively

4  m-arm and n-arm respectively

Which of the following is the most important cause
for animals and plants being driven to
extinction ?

(1)  Habitatloss and fragmentation
(@  Drought and floods
(3  Economic exploitation

(4)  Alien species invasion
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65.

66.

67.

68.

DNA precipitation out of a mixture of biomolecules
can be achieved by treatment with :

(1) Isopropanol

@ ,Chﬂled ethanol

(3 Methanol at room temperature
@) Chﬂled chloroform

In Antirrhinum (Snapdragon), a red flower was
crossed with a white flower and in F, generation,
pink flowers were obtained. When pink flowers
were selfed, the F2 generation showed white, red
and pink flowers. Choose the incorrect statement
from the following : ‘

(1)  This experiment does not follow the Principle
of Dominance.
2 Pink colour in F, is due to ihcemplete
dominance.
1 2 1
(8 RatioofF,is n (Red): 1 (Pink) : " (White)
(4) Law of Segregation does not apply in this

experiment.

The concept of “Omnis cellula-e cellula’ regarding
cell division was first proposed by :

(1) Rudolf Virchow

) Theodore Schwann
(8)  Schleiden

(4)  Aristotle

Expressed Sequence Tags (ESTs) refersto:

(1) Genes expressed asRNA
2 Polypeptide expression
3) DNA polymorphism

(4)  Novel DNA sequences

16
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69. Match the following hormones with the respective
disease :
(@  Insulin @ Addison’s disease
(®  Thyroxin () - Diabetes insipidus
© Corticoids (iii) Acromegaly
@  GrowthHormone (iv) Goitre
() Diabetes mellitus
Select the correct option.
@ B @ @
O ® O @ @
@ @ G @ @
@ ® @ @ (iii)
@ @ ™ 0 @
70.  Phloem in gymnosperms lacks
(I Albuminous cells and sieve cells
(@)  Sieve tubes only
(3  Companion cells only
4  Bothsieve tubes and companion cells
71.  From evolutionary point of view, retention of the
female gametophyte with developing young embryo

on the parent/sporophyte for some time, is first
observed in : '

(1) Liverworts
(@  Mosses
()  Pteridophytes
€)) Gymnosperms
72.  Which one of the following equipments is

essentially required for growing microbes on a
large scale, for industrial production of enzymeg ?

@
@
)
@

BOD incubator
Sludge digester
Industrial oven

Bioreactor
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Grass leaves curl inwards during very dry
weather. Select the most appropriate reason from
the following :

O Closure of stomata

@  Flaccidity of bulliform cells

(3)  Shrinkage of air spaces in spongy mesophyll
4 Tyloées in vessels

Which of the following statements isincorrect ?

6)) Viroids lack a protein coat.

(2) Virusesare obligate parasites.

(3)  Infectivé constituent in viruses is the protein
coat. -

(4)  Prionsconsist of abnormally folded proteins.

Which of the following statements is incorrect ?

(1) Morels and truffles are edible delicacies.

2  Clavicepsis asource of many alkaloids and
LSD.

(3) Conidia are produced exogenously and
ascospores endogenously.

(4  Yeasts have filamentous bodies with long

thread-like hyphae.

Select the correct group of biocontrol agents.

(1)  Bacillus thuringiensts, Tobacco mosaie
virus, Aphids

2 Trichoderma, Baculovirus,
Bacillus thuringiensts

3) Oscillatoria, Rhizobium, Trichoderma

(4)  Nostoc, Azospirillium,

Nucleopolyhedrovirus

18
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7.

78.

79.

80.

Which of the following pairs of gases is mainly
responsible for green house effect ?

(1  Ozone and Ammonia

(@  Oxygen and Nitrogen

(3)  Nitrogen and Sulphur dioxide
4)  Carbon dioxide and Methane

What is the genetic disorder in which an individual
has an overall masculine development,
gynaecomastia, and is sterile ?

(1)  Turner’s syndrome

@  Klinefelter’s syndrome
3)  Edward syndrome

4. Down’s syndrome

Due to increasing air-borne allergens and
pollutants, many people in urban areas are
suffering from respiratory disorder causing
wheezing due to :

(1)  benign growth on mucous lining of nasal
cavity.

(@  inflammation of bronchi and bronchioles.

(3  proliferation of fibrous tissues and damage
of the alveolar walls.

4)  reductionin the secretion of surfactants by
pneumocytes.

Match the following organisms with the products
they produce :

(@  Lactobacillus @ Cheese

(b) Sacci.La.romyces @ Curd
cerevisiae

() Aspergillus niger (i)  Citric Acid

(@  Acetobacter aceti (iv) Bread

v)  AceticAcid
Select the correct option.
@ B ©
®» @ v G
@ @ v @) )
@ @  ®» O
@ @ O ¢ @
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81.

82.

83.

84.

Match the following structures with their
respective location in organs :

(@ CryptsofLieberkiihn @)  Pancreas
() - Glisson's Capsule (i Duodenum
© TsletsofLangerhans (i) Small
‘ ‘ mtestine
@  Brunner'sGlands Gv) Liver
Select the correct option from the following :
@ B ©@ @@
o @ 6O @ @
@ @ @ 6 G
©® @ @ O O

@ @ @ O

What map unj‘tv(Cent'imoi'gan) is adopted in the
construction of genetic maps ?

(1) A unit of distance between two expressed
genes, representing 10% cross over.

@ Atnit of distance between two expressed
" genes, representing 100% cross over.

3) A unit of distance between genes on
chromosomes, representing 1% cross over.

(4 A unit of distance between genes on

chromosomes, representing 50% cross over.

Concanavalin Ais:
@) an alkaloid

(20 anessentialoil
(3 alectin

4  apigment

Cellsin G, phase :

(1) exitthe cell cycie

(2) enterthe cellcycle
(3) suspend the cell cycle

(4)  terminate the cell cycle
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8.

86.

817.

88.

Select the correct sequence for transport of sperm
cells in male reproductivé system.

(1) Testis — Epididymis — Vasa efferentia

— Rete testis—Inguinal canal — Urethra

Seminiferous tubules — Rete testis
— Vasa efferentia — Epididymis
— Vas deferens — Ejaculatory duct
— Urethra — Urethral meatus

@

(3  Seminiferous tubules — Vasa efferentia
— Epididymis — Inguinal canal

— Urethra

Testis — Epididymis — Vasé efferentia
— Vas deferens — Ejaculatory duct
— Inguinal. canal — Urethra
— Urethral meatus -

@

Which of the following statements regarding

‘mitochondria is incorrect ?

@®

Outer membrane is permeable to monomers
of_ carbohydrates, fats and proteins.

(2  Enzymes of electron transport are embedded

in outer membrane.

) Inner membrane is convoluted with
infoldings.

(49  Mitochondrial matrix contains single

circular DNA molecule and ribosomes.

Persistent nucellus in the seed is known as :

(1) -Chalaza
(2  Perisperm
(3) Hilum

(49  Tegmen

Identify the correct pair representing the
causative agent of typhoid fever and the
confirmatory test for typhoid.

1)  Plasmodium vivax/ UTI test

(2  Streptococcus pneumoniae [ Widal test
(3  Salmonella typhi/ Anthrone test

4  Salmonella typhi/ Widal test

21
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Match the hominids with their correct brain
size

() Homo habilis @ 900 cc
(b)  Homo neanderthalensis (i) 1350cc
(©  Homo erectus (i) 650-800cc
(d)  Homo sapiens @av) 1400cc
Select the correct option.
@ M @© @
O @ O @ @
@ @ @ O @)
@ @) v O @
@ @ @ @O @@

What is the site of perception of photoperiod
necessary for induction of flowering in plants ?

(1) Lateralbuds
(2) Pulvinus

(3  Shootapex
4 Leaves

Which is the correct thermal stability order for
HoE (E=0, S, Se, Te and Po) ?

(1) HyS <Hy0 <HySe <H,Te <H,Po
(20 Hy0 <H,S <H,Se <H,Te <H,Po
(3  HyPo<HyTe <HySe <H,yS <H,0
(49  HySe <HyTe <HyPo <H,0 <H,S

The compound that is most difficult to protonate
is:

0

®» H-  NH
0

@ H3C_/ ~x

®  H,C CH,
0

@ Ph— g

Among the following, the narrow spectrum
antibioticis :

1  penicillin G

(2) ampicillin

(3  amoxycillin

(4)  chloramphenicol

22
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(1 HyS<H,0 <H,Se <H,Te <H,Po

@  Hy0 <H,S <H,Se <H,Te <H,Po

(3 HyPo<H,Te <H,Se <H,S <H,0

4  HySe <HyTe < HyPo < HyO <H,S
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o4,

95.

96.

97.

98.

4d, 5p, 5f and 6p orbitals are arranged in the order
of decreasing energy. The correct optionis:

1 sf>6p> 51? >4d
@ 6p>5f>5p>4d
3 6p>5f>4d>5p
4 5f>6p>4d>5p

The method used to remove temporary hardness
of wateris :

(1)  Calgon’s method

@  Clark’s method

(3  Ion-exchange method

(49  Synthetic resins method

‘Which of the following is incorrect statement ?

()  PbF,is covalent in nature

@  SiClyis easily hydrolysed

3  GeX, (X=F, Cl, Br, I) is more stable than
GeX,

4 SnF,isionicin nature

Match the following :

(@ Purenitrogen )] Chlorine

(b)  Haber process (i) Sﬁlphuric acid

© Contact process ~(ﬁi) Ammonia

(d  Deacon’sprocess (iv) Sodium azide or

Barium azide’

Which of the following is the correct option ?

@ B @©@ @
O @O G @) G
@ @ @ O @)
@ @ v @ o
@ @ @ @ @

Conjugate base for Bronsted acids Hy0 and HF
are :

(1) OH~ and H,F+, respectively
@ H30* and F~, respectively

(3) OH~™ and F~, respectively

@  HzO* and HyF *, respectively

23
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1) 5f>6p>5p>4d

(2 6p>5f>5p>4d

(3 6p>5f>4d>5p

@ . 5f>6p>4d>5p

Bhlen  gherels a;q.»@még,s&rmmmm Ji:F:7:3
HweTURID (wpen :

€)) asrreba;s&rl@mm’

@  Samrits ey »
@  @wealLufvrdp wen
@  Gewupens e @pcﬁ)rp -

Qemaumauameupmier orgy eMwubm sapm ?
- .

PbF, ssinemanriiy gemeniowjan wig

@  SiCl, crefigrs ﬁungbu@ﬂumLﬁm@

@  GeX,-m el GeX, X=F, Cl, Br, I) <ds
ﬁmwqugmmmumLM@ '

@  SoF,; sweflls gamamowiemwg

Seeumetareuphann QUITmEEs :

@ g eplymer () &Cermifler
b  Capuir. (i) . &bss beb
Qaweperm
© sreTLmsL. @)  owCurelwr
Qewedpepm
& Csren (iv) Gemgwibd
Qeweupenn Sleman(h)
SlDeng)
Guflwibd
Sjenav(p
Keneumeuameupmier g sflwines Qafey ?
@ ) ©@ @
QO @ @ G
@ @ & © qi
@ @ v @ 6
@ (v @ @ §

Lipremevi_L. iLflekiser Hy0 whgd> HF -aor
Llenent SMTHRIGET ;

®  pepGu OH™ whmib H2F+
@  wepCu H,0F LoDMILD F-
®  opCu OH™ whmb F-

@  opCu HyOF whmyb HF+
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99.

100.

101.

102.

The manganate and permanganate ions are
tetrahedral, due to:

(1)  Thew-bonding involves overlap of p-orbitals
of oxygen with d-orbitals of manganese

2  There is no =- bonding

(3)  The - bonding involves overlap of p-orbitals
of oxygen with p-orbitals of manganese

(49)  The - bonding involves overlap of d-orbitals

of oxygen with d-orbitals of manganese

Which will make basic buffer ?

(1) 50 mL of 0.1 M NaOH+25 mL of 0.1 M

‘CH,COOH

2 100 mL of 0.1 M CH,;COOH + 100 mL of
0.1 M NaOH

@3 100 mL of 0.1 M HCl+200 mL of
0.1 M NH,OH

4 100 mL of 0.1 M HCI+100 mL of 0.1 M

NaOH

Among the following, the one that is not a
green house gasis:

(1)  nitrous oxide
(2) methane

(3)  ozone

(4)  sulphur dioxide

pH of a saturated solution of Ca(OH), is 9. The
solubility product (Ksp), of Ca(OH)gyis:

(1) 0.5x10715
@ 0.25x10-10
(3) 0.125x10715
@ 05x10-10
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99.

100.

101.

102.

[English+Tamil|
wrisCar wHmb QuinrmsGean wefsd
BranpEwns 2 6TergHE@ STremrid @

1) psafgaiiar p-M9lLTosEhLan

LD IT Thl & 6T &) o d-<p AL Lrésar
o @rerL&&lw

Cup@urmbgsema

w-1GleneTLiL
@
3

- QevantliL] @)eena

< &almaflen  p-pTGL L Te)s@EHL 6
Lo ikl & Gt &) 61 p- MG LT &eT
CuhQurmbgls e o araTL&dlw

- AenemrLiLy

@ saligaiar  d-g Ml LTS @EpL6n

LD T (61 & GT &1 601 d- g, ML réger
Cup@Qurmbglsene o @erL&&lw

-1 NenemriiL

6TE BMTS STREMED 2 (HAUTSGD ?

(1) 0.1M NaOH -6 50 mL + 0.1 M CH;COOH
-em 25 mL

@  0.1MCH,COOH -6 100 mL+0.1 M NaOH
-e57 100 mL

3 0.1 M HCI -ar 100 mL+0.1 M NH,OH

-6om 200 mL

0.1 M HCl -év 100 mL+0.1 M NaOH
-6 100 mL

@

19 6meU el TELDMIET 6TEl RETY LSS Gly e
aumu|eurs QeVeOnsg) :

1) oplyd Bsms®
@  1B5Csen

©® gGsren

@ FH35 oLYEmE0H

Ca(OH)z - Qgeiliiquw senyaeilen pH peng) 9
<@Lb. Ca(OH), -6 sengdlper Wumésnd (Kgp) :

(1) 05x10715
@ 025x10710
@) 0.125x10715
@ 05x10710



[English+Tamil]

103. Match the Xenon compoundsin Column - I with
its structure in Column - IT and assign the

104.

105.

correct code :

(@
®
©
@

Column -1
XeF,

XeF 6
XeOF,
XeOq

Code:

@
@
&)
@

An alkene “A” on reaction with 04 and Zn—~H,0
gives propanone and ethanal in equimolar ratio.
Addition of HCl to alkene “A” gives “B” as the major

(@ (b)
@ G
G) (i)
@) (i)
) @)

(i)
(iii)
(iv)

(©
(ii)
@iv)
@
@

Column - 11
pyramidal

square planar
distorted octahedral

square pyramidal

@
@)
@

(iv)
(1)

product. The structure of product “B” is :

§ey)

®)

@

Which mixture of the solutions will lead to the
formation of negatively charged colloidal [AgI]I ~

sol. ?
@
&)
)
@

CH,

|
Cl- CH;— CH, - CH
2~ CH, = C

CH,

CH,CI
|
@ HyC-CH,-CH-CH,

CH,
H3C—CH2—(|J—CH3
o
CH,
H,C - CH~CH
a cw,

50 mL of 1 M AgNO4 + 50 mL of 1.5 M KI
50 mL of 1 M AgNO3+ 50 mL of 2 M KI

50 mL of 2 M AgNO3 + 50 mL of 1.5 M KI
50 mL of 0.1 M AgNO3 + 50 mL of 0.1 M KI

25

103.

104.

105.

P6
ugdl I - oarer Qearrenr Csiwhisamer
ussl II - o drar sigafar si@wiICur
Qurmss womibd eflwuner GHuI L sms.

ugd -1 ugsd -1I .
@  XeF, 0 e
b) XeFg i) ser sHIID
(© XeOF, i) o msHMHs eraprpd
@  XeO, (v) egr GrdE
GPI® :

@ M) © @
®H O @ @) G
@ @ @ G o
@ @ @ O G
@ @ G O @

R p@ar “A” Oy pmd Zn—H,0 o Lar
slenaryfibg LruuGanen wHND THsaTme
sfGurent elflssdd smdng. "podar “A”
2 e HCl -3 Comiugre 8@dwere) eflener
Qurmerrs“B”flen_sdlmgl.  elepar@umemer
“B”-er S{emLIL] ¢

CH,

!
(1 Cl-CH,-CH,-CH

|

CH,

CH,C1
I
@  H;C-CH,—CH- CH,

CH,4
|
(3 H3C-CHy— (ll - CH3
Cl
CH,4
|
H,C-CH-CH
@ 7 |
Cl CH,

6TIh Semfgsailen Samenel erdlr LOaTE@LOLIEHL LI
&L [AI]I™ grene 2 (HauTéEh ?
1 1 M AgNOg -ér 50 mL+1.5 M KI -6

50 mL

2 1M AgNOj4 -ér 50 mL+2 M KI -6
50 mL

3 2 M AgNO, -ar 50 mL+1.5 M KI -én
50 mL

49 0.1 M AgNO; -ar 50 mL+0.1 M KI -

50 mL
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106.

'107.

108.

109.

110.

For an ideal solution, the correct optionis:
(1)  ApirS=0atconstant T and P

@  ALix V#0at constant T and P

® A, H=0atconstant T and P

@ AL;xG=0atconstant T and P

In which case change in entropy is negative ?

(1) Evaporation of water

(2  Expansion of a gas at constant temperature
(3)  Sublimation of solid to gas

@  2H(@ - Hy@

The number of sigma (¢) and pi () bonds in
pent-2-en-4-yneis:

(1) 10cbonds and 3 whonds
(2) 8obondsand 5 wbonds

3 11obondsand 2 wbonds
4 13 obonds andnowbond

What is the correct electronic configuration of
the central atom in K, [Fe(CN)¢] based on crystal
field theory ?

D)ty el
@ty e
® &t
@ el

For ‘the second period elements the correct
increasing order-of first ionisation enthalpy is :

(1) Li<Be<B<C<N<O<F<Ne
2 Li<B<Be<C<O<N<F<Ne
3 Li<B<Be<C<N<O<F<Ne
4 Li<Be<B<C<O<N<F<Ne

106.

107.

108.

109.

110.

English+Tamil|
S pOSlLdL smrFQ&E Fwner Asfe, :

1 AS =0 wrprg T wpmid P -6

SOSHD
2 AVSSGD%@ # 0 orprg T wHmid P -é
6)) -AH5@§§@=O wrors T wppibd P -6
@ AGEW§§®=O wrorg T wpmib P -6

erdéd eram Grmd ompmib erdi HliymLwig) ?
O B ypelwrsd

@ wrprg Gelufleeuid @m eumy
afifleuenL_sed

B  SamwsdlhHg T EUTS LISBISOTSED
@  2H(g) » Hy(®)

Quen_-2-uSetr-4-gmefled 2 drer fswom (o) LHOILD
U (m) Gewarrliyseflen eranvraniiéans

(1) 10 o YenemTliL&6T HMID 3 7 AlenamTLIL|SeT
2 8o leantiL|seT HMILD 5 T 1NenewTLIL|SeT
@)  1loGepemmiysar opmid 2 m enamriiLgeT
@ 13 o Gevemriser LHML 7 DepenTiiLy

@ dene

Uigsll Lod tararangullerig K [Fe(CN)g] -é
o erem enow Sgmiellen FRlwime eradlFren
S|GLOLIL]| GTEmen ?

' 4 2
1D t2g €y

6 0
@ty &

3.3
3 e” tg
4 .2
) e ty

GQravLrd  eflens
& W efl W ITH & e
gmeutlens

() Li<Be<B<C<N<QO<F<Ne
2 Li<B<Be<C<O<N<F<Ne
3 Li<B<Be<C<N<O<F<Ne
4 Li<Be<B<C<O<N<F<Ne

safwmgaflar s
crangr@uiar  Fflwren
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111.

112.

113.

114.

For the chemical reaction

Ny(g) +3Hy(g) = 2NH4(g)
the correct optionis:

_ 1d[Hp] _ 1 d[NH;3]
0 3 dt 2 " at
d[N d[NH
@ [dt2] N [dt 3]
_dNy) _ 1 dINHy)
© &t 2 at
d[H d[NH
@ 3 [dtz] —9 [dt 3]‘

The number of moles of hydrogen molecules
required to produce 20 moles of ammonia through
Haber’s process is :

a 10
@ 20
@ 30
@ 40

If the rate constant for a first order reaction is k,
the time (t) required for the completion of 99% of
the reaction is given by :

(D  t=0.693/k
@ t=6.909/k
(3) t=4.606/k
@ t=2.303/k

The correct structure of tribromooctaoxide is :

0)
O\\ Il Vi
O=Br-Br-Br=0
@ ol N
0 (6]
0]
Oy i O _
@ O=}3r—]?r—]?<r:0
O —
_ O\\ Il /O
O—-Br—Br—-Br=0
® -V RE
6) 0 8)
o
N
=Br—Br—Br—
@ 0] //r ]?r‘ P:\r 0]

27

111.

112,

118.

114,

Pé6

Geud) eflenamuimen
Ny(g) + 3Hy(g) = 2NHy(g) -eflpaman
gflwnen Gzfey :

1 d[H,] 1 d[NH;]
"5 Tz @
@ - d[iz] =2 dﬂ:ﬁ%]
o ol AN
Capur Qewdgpeplivig 20 Cuordser

2Cwraflurenes 2 (Heurs@GausnE Coameuli-
LD enaml Feen epeddamsaten Cordgefen
GTGRTENT HEnS

1 10
@ 20
@ 30
@ 40

‘(1 (PF® auena ellenanuilen ellenanGeus Lomdled)

k erafled, 2ibs ellenar 99% (gL cusnHE
Gaemauli(Bid Crrb (t) eremig :

1) t=0.693/k
2 t=6.909/k
3 t=4.606/k
4 t=2.303/k

Leny LCrrCur s <pdams® -6 &fluimest
SlmLIL :

0
O\\ oz
® O=J/3r—]l3|»r—-B\\r=O
0 0 0
0
O\\ 1 //O
@ O=/33r—Br—B\r:O
o s ©
0
O —_
_ O\\ ] /O
O-Br—=-Br—Br=0
6} — /r "r \r_
0 0 0
G
O\\ I //O _
=Br—Br—Br-
@ 0 //r Ir \\r 0]
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115.

116.

117.

118,

-Which of the following diatomic molecular species
has only 7 bonds according to Molecular Orbital
Theory ?

® 0,
@ N
® G
@ Be,

For the cell reaction

2Fe3* (aq) + 21 ~(aq) — 2Fe?* (aq) + I(aq)

Ecell_ 0.24V at 298 K. The standard Gibbs
energy (A G®)yof the cell reaction is :

[Given that Faraday constant F = 96500 C mol ~ 1]

(1) ~—46.32kJmol~1

@ —23.16kJmol~!
(38) 46.32kJmol !
4 23.16kJmol~!

The most suitable reagent for the following
conversion, is :

H.C-C=C-CH ch\ /CH3
sgb—U= g —> H/\):\H

cis-2-butene

(1) Na/liquid NH4
2  H,,Pd/C, quinoline
@3 Zn/HCI

@ Hg?t/H*, Hy0

A compound is formed by cation C and anion A.

The anions form hexagonal close packed (hcp)
lattice and the cations occupy 75% of octahedral

voids.- The formula of the compound is :

@) CoAg
@  CsA,
B G4,
@ C,A,

28

115.

116.

117.

118,

1Geteu(HLD FFTEm) @a)ésahgaserﬂé) TGl POST
QMY L Qsrarenslivig m GNenewriiL&ear
(b QupmeTeng) ?

@ Oy
@ N,
@ Gy
4  Be,

‘Wlestseven efleneumme

2Fe3* (aq) + 21~ (aq) — 2Fe2* (ag) + L,(aq) 69

298 K -& Eg;=024V @b Watseer
elemamuden S Hiiew BSL_lq_Gl)IT <O (A,G°)
GTGTLI]

[Qarhssiu (Hererg
F=96500 Cmol ™ 1}

tooomrGL omied

(1) -—46.32kJmol~?
2 —23.16kJmol!
3  46.32kJmol~1
4 23.16kJmol~1

Hereumo wrHpsHHEG Wes s@bs sra :
H;C_ _CHg

H,C-C=C-CHy —> \:Q
H” H

Ha-2-19uy L te Gt

()’ Na/ i NH,

@  H,, Pd/C, @elCamaden
® Zn/HCl

4 Hg?*/H*, Hy0

e Geob Crmndlear owefl C wpmib erdlibles
Siwefl A -Qemmé o peurssiLHES. erdlider
Slwelgar smCarar Qs QUIHbs Ligs
Sienwlient (hep) o meurs@dearyer LDg)QJLD
Cprllen wieflae eramupd GeudblLriisefi
75%-gg Blrliydlempen. Carwglen cumiiiumr :

@) CyAg
@  CuA,
@ CA,
@ C,A,
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119. Among the following, the reaction that proceeds
through an electrophilic substitution; is :

Q) @—I\}-ZCI‘ @*CI+N2
o Qo s
ca a

—_—

AICI,

Q +c, UV lisht, o) c1
)
a a
@) QCH20H+ HOIReAS CH,Cl+H,0

120. The biodegradable polymeris:

1) nylon-6,6
(2) nylon2-nylon6
(3) nylon-6
(4) Buna-S
121. Which of the following species is not stable ?
O  [SiFgl2-
@ [GeClg]2~
3  [Sn(OH)]?~
@  [SiClg]?~
122. Which of the following is an amphoteric
hydroxide ?
1  Sr(OH),
@2  Ca(OH),
(3 Mg(OH),
@  Be(OH),
123 The correct order of the basic strength of methyl

substituted amines in aqueous solution is :

()  (CHy)yNH > CH;NH, > (CHg)sN
@  (CHy)zN > CHyNH, > (CHy),NH
3  (CHy3N > (CH,),NH > CH,NH,
4y  CHyNH,>(CH,),NH > (CH,);N

29

Pé
119. Qéeneumelareupmiet sl rranser LS G
aufluirs QeeoaIb ellepar :

+ 1 ’
o () (O-ama
- Cl Cl

AIC],

+Cly 3

UV gafl
@wgi» cl a
3
ca
(@) QCH20H+H01Q‘“—°”$ _CH,Cl+H,0

120. 2 u9fwr) Hevgeymid LieL :

(1) perer-6, 6
(2 BTN 2-60 BTG 6
(3  enpemen-6
@  AQyer-S
121. Qe weisefla érgj HlevaotiLg semenio
2ADDS! ?
() [SiFG]2 -
@  [GeClgl2~
®  [Sn(OH)g)2~
4) [SiClG]2 -
122, 19 61 6u (15 6u & 6u [ M 6 o g i w ey
manl_rréeamgh ?
(1)  Sr(OH),
@  Ca(OH),
3  Mg(OH),
@ Be(OH),
123. Gwsdla BT\ IR 3B erg et

Biréseyeadlen smrsseenouien sflwne auflens :

(1)  (CH,),NH > CH;NH, > (CH,);N
@  (CH,),N > CH;NH, > (CH,),NH
3  (CHy,N > (CH,),NH > CH,NH,
4)  CHyNH, > (CHy),NH > (CHy),N
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124. The major product of the following reaction is :

COOH
+ NH, strong heating S

COOH

COOH

CONH,

0.

0

COOH

NH,

NH,

NH,

125. Which one is malachite from the following ?
(1) CuFeS,
@  Cu(OH),
3 FegOy
4@  CuCO3.Cu(OH),
126. The mixture that forms maximum boiling

azeotropeis:

(1) Water+ Nitric acid

(2) Ethanol+Water

(3  Acetone + Carbon disulphide
(4  Heptane + Octane

124. Gemeupd 6l em et udl 6t 19 @8 weray
eflenen@Lim(me :
COOH
+ NH, 2ifs0rs GHUGSEIED
COOH
COOH
CONH,
O‘
0)
COOH
NH,
NH,

125.

126.

NH,

1GeiTeu(HeuGTEDIIET GTEl LOTEESL_ ?

(1)  CuFeS,
@  Cu(OH),
@) Fey0O,

4 CuCO,.Cu(OH),

Cuewlt Gsrdflee Qarar. Qsrdhoa
wrpr Gerngans 2 (HeuTsHEGeg) :

@ Br+eplfs sufen
@ ergsammdd + Bir
@ A8 CLmen + &6 evL_geenu(

@ QapliCren +9,&CL 6
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127,

128.

129,

130.

31

Identify the incorrect statement related to PCI5‘ | 127,

from the following :

(1) Three equatorial P— Clbonds make an angle
of 120° with each other

@  Twoaxial P— (] bonds make an: angle of 180°
with each other

B  AxialP — Clbonds are longer than equatorial
P —Clbonds

@ PCly molecule is non-reactive

Under isotherma] conditioﬁ, a gas at 300 K

expands from 0.1 L t0 0.25 I, against a constant 128,

external pressure of 2 bar. The work done by the
gasis:

[Given that 1 L bar = 100 dJ]

O -304J
@ 5kJ
B 254
@ 30J

Which of the following series of transitions in the

spectrum of hydrogen atom falls in visible 129,

region ?

(1 Lyman series
2 Balmer series
(8)  Paschen series

(4  Brackett series

Which of the following reactions ‘are

disproportionation reaction ? 130.

@  2Cu* - Cu2+ 4oyl

()  3MnOF +4H* - 2MnO] +MnO, +2H,0
© 2KMnO, A 'K, Mno, + MnO, + 0,
@ 2MnO; +8Mn*" +2H,0 = 5Mn0, +4H®

Select the correct option from tﬂé fc;llowing :
D (2)and (b) only

@ (@), () and (o)

@ (@), (and (@

4 (@) and (d) only

Pé

'ﬁ]mm@mmmﬁ)gﬂm PCl; <4 Qsriryenu

sflubn sapen SevTL_(f)

@ epergy gareulfl P -l Yan emr 1L & 6
gffu&@é;@m 1200 3@55rrévar(&_‘r,mg;
& (HeurgGdleman.

@ Qe SiFsaufl P Cl Wlem ewr i) Ly s 6ir
&8I & (@155 5 e 180° Caramgong
2 (Heur& G dlemaen.

@  <Fsea P-Cl Yenewriiysar sereufl
P—Cl Qenemriysener el Beriorenenay.

@ PClL WPo&amy lenangdmen STETR

QeuiuBlena wrpr Bupseande, 300 K -
2.6T6T @ euru; 2 bar wrYrs  Geuef
AYS558pE edlyrs 0.1 L RUGTE
0.26 L -5 @S]rﬂm_gml_é;]g)@. B IT W 6u 6
Qewuliu@in Couamerwireng; :

[Qsr@ésiiu Garorg : 11 bar=100J]

»H  -30J

@ 5kJ
3 254
@ 30J

Qe mLh Bleveviommp aflmsseia T
WA L7 8o 6 <91 @) 6 6t Bipwreneud e
SLyQam@hd LGSl aflpdlarmg ?

D weows eufas

@.  urdwt eufans

@) urevser aiflaps

@  GrEQel auflens

Weneupid efenensafies earaney cilflgs Eﬂsmg,eq

eflenerser ?

@  2Cu* > Cut+ Cul

®) 3MnOi_+ 4H* - 2MnO, +MnO0, +2H,0
ZKMnO, A, K,MnO, + MnO, + O.

© 41— B /4 2 2

@  2MnO +3Mn™ +2H,0 - 5Mn0, +4H®

6161 (1 6u ameu b my eir sfwine QAgfenau
CoirpQs( :

(1) (a) wHmILD (b) L (RHib

@ (@, () wimLd ()

@ (@, © wpmibd )

@ () wpmid (d) @i
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181. Fora cell involving one electron ES;=0.59V at

298 K, the equilibrium constant for the cell reaction
is:

[Given that _23’0_;&? 0059V atT= 298 K}

1.0x 102
1.0x10%
1.0x 1010
1.0x 1030

®
@
)
@

The stru‘c:tur‘e‘ of intermediate A in the following

reaction, is:

132.

“NCH,
0,

CH OH

@

CHj
) |
H,C-C—-0-0-H

@

CH,4
oH

0-0-CH-
|
CH

®3) 3

CH,~0-0-H

HC~_
™~ CH,4

@

32
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131. 298 K -, @@ GTHL_FTEE 2 GTeTL S (b
Sersaaia Eoy=0.59 V@0 L) 67 & 60 &1
Sepamden soHeve wrde L

_———2‘30_;’ BT _0.059 V]

[@asrr@ésaauuf_@mmg: T=298 Ko =
1.0x 102

1.0x 105

1.0x 1010

1.0x10%0

&)
e
®
@

182, Qemau(pid dAcmandar Gel Heowl Qe

A -G Sienioti

M

NCH,

CH " oH

»
CH;
H;;C—C—O—O—H
@
CHj4
s
0-0-CH
L
(3) CHS
CH2—O—O—H
HC_
™ CH,
@
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133.

134.

135.

136.

137.

The non-essential amino acid among the following
is:

1) Va]ine ’
2 leucine
3 alanine-
4 lysine

A gas at 350 K and 15 bar has molar volume

20 percent smaller than that for an ideal gas under

the same conditions. The correct option about
the gas and its compressibility factor (Z) is:

®
@
&)
@

Z>1 and attractive forces are dominant
7>1and repulsive forces are dominant
Z <1 and attractive forces are dominant
Z <1 and repulsive forces are dominant

Enzymes that utilize ATP in phosphate transfer
require an alkaline earth metal (M) as the cofactor.
Mis:

1 Be
@ Mg
® Ca
4 Sr

A mass m is attached to a thin wire and whirled
in a vertical circle. The wire is most likely to break
when :

(1) the massis at the highest point
(@)  the wire is horizontal
(3) the massis atthe lowest point
(4  inclined at an angle of 60° from vertical
+6V
Iy

fELED )

>

=

The correct Boolean operation represented by the
circuit diagram drawn s :

1) AND
2 OR

3) NAND
4 NOR
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350 K pmydb 15 bar -6b 2 6Tem e eumujellen
Gurer sarsiere 265 Qauliuflow wHmb
SU(P5BEHD 2 drer @ FOIWIDL uTLaneu
oL 20 #5685 @GDEUTS 2 GTaTg). SibE UL
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@  Z>1wpmb erdliiiLy ellengaer il iaTeme
@)  Z<1wpmbd il elenFser qridlueTeTer
@  Z<1wpmb e eSlengser gl |aTener

urevGul wrpmsde ATP -3 uweaTLGHEID
AprdsEssE @wm sry war 2 Carsb (M)

soans srraiurs CsoauluBdng.
M eresiigy -

1 Be

@ Mg

@3 Ca

4 Sr

a(m Qéedlw sAudles g wpanamuied ‘m’ Hlenm
Qaarssliul(h @ Oekigsg el Liors
sPODULGEDG. sD9 ACHsLIE WHleymbd
Hlenev, eremig) :

O Bevp Quepd 2wyl yerafled 2 erer CLirg
@ s0A HeoLsserons o drer GuTg|
@  Blenp SAmio 2w Larefiudled o arar Cuimg
@ a0 el L sH M@ 60° Fmileurs 2 6TeT
Gurg
+6V

/° -

Al —3LED (Y)

/0 3

Blenemm LLLd @@_uéﬂ@[o gflwmresr Lyewien

Qewéur® :
1) AND
2 OR

3 NAND
(4) NOR
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139,

140.

Six similar bulbs are connected as shown in the
figure with a DC source of emf E, and zero internal
resistance.

The ratio of power consumption by the bulbs when
(i) all are glowing and (i) in the situation when
two from section A and one from section B are
glowing; will be :

—— <——]§———-—>
|
g
LML
:E

| ppp

@
@
@ 1:2
@ 2:1

Two similar thin equi-convex lenses, of focal length
feach, are kept coaxially in contact with each other
such that the focal length of the combination is

F;. When the space between the two lenses is

filled with glycerin (which has the same refractive
index (p = 1.5) as that of glass) then the equivalent
focal length is Fyy. The ratio F'; : Fo will be :

® 2:1
@ 1;
@ 2

@ 3:

=W N

The displacement of a particle executing simple
harmonic motion is given by

y=Ay+Asinwet + B cosot.

Then the amplitude of its oscillation is given by :

Ay + VA% + B?

@®

@ VA2 + B2
® JAZ +@A+By?
4 A+B
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B @55 bear Marsgsdar ULSHD
srliqujerereurn e Cordlang e epaodgiL e
QeoarssluGdpg. Cordlas e apasHen
Benaluse ellens E opmib o156 18 LlaigemL
LhBRBWID G : |

O  ovagg MersEasEnd gaflenw 2 1Hpid
Gurg

A -uEdldipis @@ asgs@wb,
B -u@dullalimba e ellardsed geaflaw
2 0 Gurg @eael@m Hapeysafier
vwearu@ssuu@n Hpafler wapwire
efl&lgid,

(i)

-
L
E

6] 4:9

2 9:4

6)) 1:2

@ 2:1

- Gew Qsrenevey Qaraim_ B 58 Godedlw
g Galleldmasdr @f oF& Hosulea
garCprQLreny Qs Hé Qsrar@erer Gurg
Qsm L eoluber Gellwg Qgrenwe] Fi. @)
&l 6v e 0 & (655 & Qe ulle 2 _aTar
Qe Qaiafiens [sawanTTigé@E  swwTEr
gaflelsd eramameans QupmieTer (n=1.5)]
defleflar  Qaranm®  Hrouybd  Curg
el Lawllear Ggr@guwer @Goelws
Ggrenavey Fy erafler, slflgid, F : Fy =

@ 2:1
@ 1:2
@ 2:3
@ 3:4

eraflu Elens Quisasms CLHASTATERD @
gisaflen @LLGLIWITES

y=Ay+Asinoet + B coswt 2,@w.

2iFe ieneeilen aiFs erevig),

@® Ay +VAZ +B?

@  JA? + B2
®

@

JAZ + @A +B)?
A+B
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141. Inwhich of the following processes, heat is neither
absorbed nor released by a system ?
(1)  isothermal
(2) adiabatic
(3)  1isobaric
(4  1isochoric L
142. A disc of radius 2 m and mass 100 kg rolls on a
horizontal floor. Its centre of mass has speed of
20 cm/s. How much work is needed to stop it ?
®  34d
2 30kdJ
@ 24d
@ 1J
143. In the circuits shown below, the readings of the
voltmeters and the ammeters will be :
10 i 1_9v9 io
| T A "
10V Vv
Circuit 1 Circuit 2
I Vo>V, and i; =i,
@ V=V, and i, >i,
3 V=V, and i;=i,
@ Vy,>V, and i; >,
144. o-particle consists of :

(1) 2protons and 2 neutrons only
(@)  2electrons, 2 protons and 2 neutrons
(3  2electrons and 4 protons only

@

2 protons only
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Pé
141. Qeraumbd Qewowepseaile erde Geudiu
o MepeiiLrwad, Geuafludi il rogw
o Greng) ? "
@ wrpr QeutinBlane
©@ Qe wrodL_pHm
(3 LTDT WSS
4 THT LB
142. 100 kg flewpuwyd, 2 m %'TQPLB CamenrL
UL LB qan Slenszem sanruiler o (mHawr(h
Qecodlpgl. ligen Blavp ewowsdlan HansGausib
20 cm/s. aul L §51 g 6T QuIGESMS FimSgHieusn
Qe Ceuamerulen ere wrg ?
1 33
@ 30kdJ
® 24d
@ 1d
143. &0y srl vl Gerer Werapnseie, Caurdi
BSlLisdr wOHMD SbBLL Tser sTi@b
Serai(Hger :
T 10 O
@ {éﬁ '-wwvvv\—{_vz A2
L I
10V 10V
WSlestammy 1 ilesrapn) 2
B Vo>V, bomib i=1i,
@  V,=V, wpmib i >i,
@ Vy=V, wpoib ij=i,
@ V>V hgid iy > iy
144. o-gisarser Qeupenn GLDMieTeTET :

O 2 yGpriLrensar wHmiD 2 Byl Freser
wL (Hb

@ 2eresyrenger, 2 LOrTLLTeNs6T HmID
2 Bluyl prenger

@) 2 ereoslgrenaer wHmD 4 LCFTLL reger
WU Gb

@ 2 yCymlirersdr WL (HLd
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145.

146.

147,

148.

Two particles A and B are moving in uniform
circular motion in concentric circles of radii
r, and rg with speed v, and vg respectively.. Their
time period of rotation is the same. The ratio of
angular speed of A to that of B will be :

(1) rh:rp
@ vy :vg
@ rp:iry
@ 1:1

For avl’p_,-type semiconductor, which of thev following
statements is true ?

(1)  Electrons are the majority carriers and
trivalent atoms are the dopants.

(@  Holes are the majority carriers and trivalent
atoms are the dopants.

(3) Holes are the majority carriers and
pentavalent atoms are the dopants.

(€)) Electrons are the majority carriers and

pentavalent atoms are the dopants.

Which celour of the light has the longest
wavelength ?

@O  red
@  blue
3 green
4)  violet

Pick the wrong answer in the context with
rainbow.

(1)  When the light rays undergo two internal
reflections in a water drop, a secondary
rainbow is formed.

(20 The order of colours is reversed in the
secondary rainbow.

(3  Anobserver can see arainbow when his front
is towards the sun.

(4  Rainbow is a combined effect of dispersion,

refraction and reflection of sunlight.
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S EETH e 6 a;lt.pﬁ)élésa;rfm Slan@ay Cprmser
s erefed, A-an Camawt Hens Geu‘a;gﬁfj)@to
B-én Garawr Sens Couasdp@orar eNdsid :

(I ry:rp '
@ vy:vup

(3 rg:iry

@ 1:1
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cllenL_anwi SarT@L(H
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149

150.

151.

[present near the bottom of a fully filled open tank
‘of height 2m. Taking g=10 m/s2, the rate of flow

8.9% 106 m?/s
@  2.23x10-6m¥s
4 6.4x10-6m3/s

o - “3.4eV, ~3.46V
~(2)‘ .—3.4eV, —6.8eV
3) 3.4eV, -6.8eV
@) B3.4eV,34eV

. (1) y(t)= —3 cos2mt, vlvhebre‘ yinm
@ yb=4 Sin(j;—t) ’, where y in m
3 . Yt =3cos (%}, where y in m
@ v =3cos (1_723) , where y in m

37

A small hole of area of cross-section 2 mm2 is

of water through the open hole would be nearly :

1) . 12.6x10~6m3s

The total energy of an electron in an atom in an
orbitis —3.4eV. Its kmetlc and potential energies
are, respectlvely

The radius of circlé, the period of revolution, initial
position and sense of revolution are indicated in
the fig.

¥ - projection of the radius vector of rotatmg particle
Pis:

Pé

149. 2 m 2 wpepetar WppeugLd ‘rﬂmjuuuf_L_ (M

150.

151.

Sops soaflen SigliuGHudia 2 mm GG
Geul () Ly Qarar g Sy glaver 2 arang.

g=10 m/s? erens; Qaram_red, Hpps Feneruler
@JL.QCEUJ deegin  BCrriLgdenr Gﬁg,m
Carrmwuiors

(1) 12.6x10"6md/s

@ 89x10-6m3/s

3 2.23x10"8m3/s

4 6.4x10"%m3/s

20 Slemdlea . o AL yHpe

UL gSleTar erasirrafler Qwrss <phme
—3.4 eV arafler, @igen Qués whnb Heow

< DODOSET 1perpGu :

@ —3.4eV, —3.4eV

@ —3.4eV,-68eV

3 3.4eV,-68eV

4 3.4eV,3.4eV

alLgdlar  9rbd,  eimeoe  Corb,

dgrisshlene - wHOD snfller SHae

‘S flweneu uLgdled GHUALLuL Gererear.

| Pt=0)
T 4s

P eraid sipgid gisaflen <5 Qeusbl gy erhley
y -&r, wlly

(1) y()=-3 cos2zt, @nBE y, m S
2 GTerng).
t
@ Y= 431“( ) PG y, m o
2 eiemg.
3t
@ Y= 3‘305[ ) @rE y, m S@dd
2 Gmeng.
Tt
@ y®= 3005( ) QrE y, m Sodd

2_eerg).
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152,

153.

154.

155.

The unit of thermal conductivity is:
@ JmK-!

@ Jm-1K-!

@ WmK-!

@ Wm-1K-!1

A body weighs 200 N on the surface of the earth.
How much will it weigh half way down to the centre
of the earth ?

@®» 150N
2 200N
3) 250N
4 100N

Body A of mass 4m moving with speed u collides
with another body B of mass 2m, at rest. The
collision is head on and elastic in nature. After
the collision the fraction of energy lost by the
colliding body Ais :

1
@ 9
8
@ 9
4
3 9
5
“@ 9

The speed of a swimmer in still water is 20 m/s.
The speed of river water is 10 m/s and is flowing
due east. Ifhe is standing on the south bank and
wishes to cross the river along the shortest path,
the angle at which he should make his strokes
w.r.t. north is given by :

1)  30°west
@ o

B3) 60°west
@  45°west
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Qauliug sLgg SHpaflen Q@ :

@ JmK-!
@ Jm 1K1
@ WmK™!
@ Wm lK™!

Heduder Gupurindd em Qurmelier erenL
200 N o5 2 drergl. Leflufen anowgSine Lng
gIéHe SLGuTmaflan erenL. wing ?

1 150N
@ 200N
® 250N
4 100N

u -dewsCaussded pa@HL ‘4m’ Hlevm GClamam
Qurmer A, @i Haaulgider 2m’ Hlep
Qararr. Qur@mer B -ar Bg Queurear Cpir
S8 Cursaée 2-lubfpg. BLOYDHD
@uwlnre@ée Warant Gorsgmbd Gurmer
A Quibs pdped s :

1
O 4
8

@ 9
4

3 9
5

@ 9

Beowurs odrer fléd Bhguafear Gausbd
20 m/s. Hpssrs BCrTLLID Qaram <phHled
Bhgiueufler Geusid 10 m/s. AgHE sayuiled
Bp@n et Bfg uraguia pHenn BLES
AmbySpri. el Hosmw QuTmss el
Brig Ceuaimigui Gamewrid eTaLg) :

@ 30° Cupe
@ o

@  60° CuhE
@  45°Gups
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156.

157.

158.

A cylindrical conductor of radius R is carrying a
constant current. The plot of the m.. nitude of
the magnetic field, B with the distance, d, from
the centre of the conductor, is correctly
represented by the figure :

B [
o |
R d
B
@
N
R d
B
@ / /\\
R d
@

When an object is shot from the bottom of a long

smooth inclined plane kept at an angle 60° with
horizontal, it can travel a distance x, along the
plane. But when the inclination is decreased to
30° and the same object is shot with the same
velocity, it can travel xy distance. Then Xy Xy
will be :

® 1:42
@ Jz:1
@ 1:43
@ 1:23

A solid cylinder of mass 2 kg and radius 4 cm is
rotating about its axis at the rate of 3 rpm. The
torque required to stop after 2 revolutions is

® 2x106Nm
@ 2x10~3Nm
® 12x10~4Nm
@ 2x106Nm
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P6
R -gmb Qsram.. @@ 2. @maer aligel LG
wrprg BarGarmi L smg swhs Qsodps).
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B )
M AN
R d
B
@
R d
©
@

SevL_ggersgi e 60° Fmieuns 2 6ter Bariomen
LOHHID epeupLILITaT FTISETESHD sa(h QLiT(meT
auiu@L Curg wig sar dosle x
Ggreneey Lwannd Qelifpg. eriiey Caframrd
30° & GonssuulL fowuld 9Gs
Qur@er 2185 HewsGaussdd HuLILGD
Cungl sL_bg gy xy crafled, x; : x,

@  1:42
@ J2:1
@ 1:43
@ 1:23

2kg Hlevpuyid, 4 cm rapd QameirL g Hawro
2 (hener Sigen Ffleven QUTHES) 3 rpm 6dsid
sLpodng. 2w sphflseEnss WUpG
S&Cerangflen spnflaow Hnssausds
Caemauwrer Hply efens :

» 2x1075Nm-
@ 2x1073Nm
® 12x1074Nm
4 2x10Nmm
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159.

160.

161.

162.

40

At a point A on the earth’s surface the angle of
dip, 3= +25°. At a point B on the earth’s surface
the angle of dip, = —25°. We can interpret
that d ‘

(1) A-and B are both located in the northern
hemisphere.

(2)‘ Ais lbcated‘in the southern hemisphere and
Bis located in the northern hemisphere.

(8)  Aislocated in the northern hemisphere and
Bislocated in the southern hemisphere.

4 A and B are both located in the southern
hemisphere.

Tonized hydrogen atoms and a-particles with same
momenta enters perpendicular to a constant
magnetic field, B. The ratio of their radii of their
paths ry i r, will be

® 2:1
@ 1:2
@ 4:1
@ 1:4

In which of the following devices, the eddy current
effect is not used ?

(1)  induction furnace
(2) magnetic braking in train
3) electromagnet

(4)  electricheater

A force F =20+ 10y acts on a particle in y-direction
where F is in newton and y in meter. Work done
by this force to move the particle from
y=0toy=1mis:

1O 30d
@ 54

3 25d
4 204d
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Ljeuder Gopurie o drer Lyerefl A -6 Fifleys-
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Q 2:1
@ 1:2
B3 4:1
4 1:4
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O  Dengnenry. 2 e
@  @rieier oeter &THs HiNSE

. Nenarhsid

@  Ber Qeuliueplig

@ adens F =20+ 10y, y- Hansuiled g gisefen
Bg QewouBdmg. @ug F Hul e
Sofl@b, y BLLT 0flgb o drerar.
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163.

165.

166.

@

A block of mass 10 kg is in contact against the

inner wall of a hollow cylindrical drum of radius
1m. The coefficient of friction between the block
and the inner wall of the cyhnder is 0.1. The
minimum angular velocity needed for the cylinder
to keep the block stationary when the cylinder is
vertical and rotating about its axis, will be :
(€=10m/s?)

@  Jio rads

(9] — rad/s

3 10rad/s
10 wrad/s

A copper rod of 88 cm and an aluminium rod of
unknown length have their increase in length
independent of increase in temperature. The léngth
of aluminium rod is : (¢p, =1.7x10"3K~1 and
0y =2.2%x1075K"1)

1) 6.8cm
@ 1139cm
@ 88cm
@ 68cm

An electron is accelerated through a potential
difference of 10, 000 V. Its de Broglie wavelength
is, (nearly) : (m,=9%x10"31kg)

1 122x10"18m
@ 122x10-12m
3 122x10"14m
@ 122nmm

Which of the following acts as a circuit protection
device ? -

(1)  conductor
(2  inductor
@)  switch

4  fuse
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10 kg Blepp  Qamaim_ s el g@etimy, 1 m prid
Qarapr_ o eraf_bHy 2 mwevarufer o 6T sHauHGCHTEH
Aeri(é Qaram@ererg. sl@L &G,
2 mevarulilen 2 61 HauHEGL QoL CGuwirer
2 frile| Gaws, 0.1. QsiEss Hamould
2 GTeT 2 (haer igean AFfD Fpaid Curg),
slel Blenawrs QoriLgpaTen o haaruflen

Apios Carenr HasGausid :  (g=10m/s?)
1. 10 radss

2 10 rad/s

» 27

3 10rad/s

4 10wrad/s

88 cm- Berqpeier g gTfly Haw@ WLHYID

Qgfwirg Banb Qarar_ qnm <igifafiu sar@
Awapdler for sfsfiy, Qalufme
sifsfllemus sribsgaen  eald, Sigisafl
semrigen Berbd
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1) 6.8cm
2 113.9cm
3 88cm
@ 68cm

10,000 V Blemanpss CeaumuimL e wp@ée-
eflEsULIE ereslrrafern 4 -1Ayrel SieaBard
(m,=9x10~% kg) (gné@a@nL),

1 122x10"8m
@ 122x10712pm
® 122x107 14
‘@ 12.2 nm

SlemeumeuaTeudmIaT 6Tl 6 LGEDN STEELD
smellwrs GewuouBhdng ?

O sgd

@  Sengremg
@) sl

@ =omd
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169.

Two parallel infinite line charges with linear
charge densities +\ C/m and —A C/m are placed
at a distance of 2R in free space. What is the
electri¢ field mid-way between the two line
charges ?

(1) zero

@ — N/C
&) — N/C
@ - 1'21760R ‘N/C

Two point charges A and B, havmg charges
+Qand —Q respectively, are placed at certain
distance apart and force acting between them is
F. If 25% charge of A is transferred to B, then
force between the charges becomes :

@ F
9F
T
16F
® 9
UF
@ 5

A hollow metal sphere of radius R is uniformly
charged. The electric field due to the sphere ata
dlstance r from the centre

increases as r increases for r < R and for
r>R

@

zero as r increases for r <R, decreases asr
increases forr >R

@

zero as r increases for r <R, increases asr
increases forr >R

G

decreases as r increases for r < R and for
r>R

@
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B Qeamrurar wigeder eufl Wlangnr L kiger
Qupmarer CrrCam’ _(H Werar L =i Tédlear
+\ C/m wpmid —\ C/m. @)eue Serem L -
s@pb 2R @arGaeflifie CdaipdlLglad
o creran. QaiefNm eufl W@ L k& @Ehs-
Ae_Cu erwwisdled e e iy wrg ?

O yGBud
@) — N/C
3) — N/C
(4) N/C

2’1T€0R

@ L|GIT6Tﬂ Blergr L miser A wpmo B
Gudmerer Bengym Lraiaser wepGu +Q LoHmILD
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o F
9F
@ 76
16F
® 5
4F -
@ 5

R - yrib Qsranl g serefLpp 2 Cors
Carerd &rras BerGarhpd QelwuinGdmgl.
Garargfen mwwsHal®mHg r -Asrameaid
Carergdlenmed o heur@Lh lemyeLbd :

(1) r<Ruwpgdr>R agb Hoouded,
r -oflafsg Curg <Hafssngl
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Guirg whelwibd; r > R erggid Hleneoudley, r
~sfafseEh Curg Gonsng ‘

@

@) r <R eaab fowuld, r -dsfléen
Gurg Lmlw; ¥ > R erayb Hleveude, r
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170. The work done to raise a mass m from the surface

171.

172.

173.

@ mgR
@ 2 mgR

® 5 meR

@ g mgR

‘displacement current through the plates of the
‘capacitor, would be; respectively : '

@O Mgl
@ MgL
1
6)) 5 Mgl
1

43

of the earth to a height h, which is equal to the
radius of the earth, is :

A parallel plate capacitor of capacitance 20 uF is
being charged by a voltage source whose potential
is changing at the rate of 3 V/s. The conduction
current through the connecting wires, and the

1)  zero, 60 pA
2 60pA, 60 pA
3 60 pA, zero
4)  zero, zero

Increase in temperature of a gas filled in a container
would lead to :

@
@
3
@

increase in its mass
increase in its kinetic energy
decrease in its pressure

decrease in intermolecular distance

When a block of mass M is suspended by a long
wire of length L, the length of the wire becomes
(L +1). The elastic potential energy stored in the
extended wire is :

P6

170. yeliurlndemhe yedular @ rsdne, (R)

171.

172.

173.

gobrer 2wy  h-pE, m-Hopow
2urgglagH@ Gelwliu@n Geuma ufer
SIETaY : '

(1) mgR
2 2mgR
@) = mgR
@ > meR

20 pF e GCgse Hpear Qarar e
Geoans G BearCsssl m Weananpss wasder

paid WlenGardod GelutiLHpg. Werampss

tpesdlen Wenanpssd 3 Vis efigb wrhmid
SiwLEpg. Qoansgh sbdsaier efHCw
Cedgid sLgg WBarGarriLbd LHob
WearCssfluien sl Baar awfCu Qsdgibp
QL UQuwirEs flenGanmm’Lib wperpGui :

O ymewibd, 60 pA

@ 60 uA, 60 uA

@ 60 pA, ugeuid

@ gy, gg@uﬂb

EOSHDGHT DApLESILLHETer e eumujedlan
Geutiulenad iflafiy eremug) :

@
@
6
@

<iger Hlevpaw HsNsdng)

2Agen Quibs yhpme fsNsfng)
2ABe SPEpEms G@DSADg)
ApeVESa MG EhSE L LI L

QoL Qeuaflenis Gapsdpg

M flenp Qaraire_ senL L Beraperer sbiGuime
Qgrisell_L@L Curgy sbGuGen Barib, (L+ 1)
<& gl. BlussuulL soQule Gsllési-
LGb BLA Hleve <ppmed,

@) Mgl
@  MgL
1
3 3 Mgl
1 :
@ 3 MgL
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174,

175.

176.

177.
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In a double slit experiment, when light of
wavelength 400 nm was used, the angular width
of the first minima formed on a screen placed 1 m
away, was found to be 0.2°. What will be the
angular width of the first minima, if the entire
experimental apparatus is immersed in water ?

(p‘water =4/ 3)

1 0266
@ 015
@) 0.05°
@ or

A soap bubble, having radius of 1 mm, is blown
from a detergent solution having a surface tension
of 2.5 % 10~ 2 N/m. The pressure inside the bubble
equals at a point Z, below the free surface of water
in a container. Taking g=10 m/s?
density of water =103 kg/m3, the value of Zyis :

1 100cm

@2 10cm
3) 1cm
4 05cm

A 800 turn coil of effective area 0.05 m? is kept
perpendicular to a magnetic field 5X 1075 T.
When the plane of the coil is rotated by 90° around
any of its coplanar axis in 0.1 s, the emf induced
in the coil will be :

Q 2V

@ 02V

B 2x1073V
@ 002V

A particle moving with velocity V is acted by three
forces shown by the vector triangle PQR. The
velocity of the particle will :

P

(1) increase
(2)  decrease

(3 remain constant

—
(4  change according to the smallest force QR

174.

175.

176.

177.

em QrieLl Yae Csrgamarnde 400 nm
smoperd Asram geaflepw LweTLHSSID
Gurg 1 Bl Qgrenaeigidrer Henuldiey
Carenmid (pse Apiwsdlen Camamr @b 0.2°.
@&Casrgamar  S@wbl  Weagn Hd
wWppsgssiu@n Curg Ggrarmn W
AmivgFlen Coramr Si&EIDd WTg) ? (”’ﬁ;r'r=4/3)
1  0.266°

2 0.15°
3  0.05°
@4 or

2.5x 1072 N/m upliy @eiens Qsmream ¢
Gerliyssmreaen ppob 1 mm b Qarar
GemuysEUp o warssliu@dpg. Ceriys
GUOP6m 2 LD S(PSHD. @ Sevald e drar
Bflar siigeor urlGne S o drer Letafl Zy Gld
o dTem 2i(PE55SDE swb. g=10 m/s?, Bflen
<IL5d =103 kg/m? erend QaraimL_med, Zy @6

PP :

1 100cm
2 10cm
B 1lcm
4 O05cm

800 spmiseer Qameim_ sbiE smafler Liwigm
Ly, 0.05 m2, @&smer 5X107° T &rbsli-
Losdd QsiEHsTs @maubsiiul () o derg.
garb  oipar  HoTHHD
Smwpgedear gCI@ID @M RMBET AFME
Qur@msg 0.1 s Cpraddd 90° sHHUILILLTD
s&smend gram L Waallu&e efes :
o 2V

&0 19 & & (mefl 6or

@ 02V
3 2x1073V
@ 002V

v HewsCaussdd pamD @ Fsealdar B
Qewou@b Memssar QausLi &Caramd
PQR-6 smi_L Ui (Herene. gisatien SlansGousio :
P

R Q
O  afsflEEn
@  ©G®@puyb

()  omOWOD QMHEGLD
@ JVsFAdwu s (Sﬁ -8y MBS
Ceumii(Bb
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178. ~Average velocity of a particle executing SHM in
one complete vibration is :

@®

2 Ao

@ —
4  zero
179.  In total internal reflection when the: angle of

incidence is equal to the critical angle for the pair
of media in contact, what will be angle of

‘refraction ?
@ 180°
@ o

(3  equal to angle of incidence

@ 9

180. Inanexperiment, the percentage of error occurred
in-the measurement of physical quantities AB,C
and D are 1%, 2%, 3% and 4% respectively. Then
the max1mum percentage of error in the

2 gk
measurement X, where X = —7——, willbe :
chDd

3,

— %
o ()
2 16%
@ —10%
4 10%

-o00o0-

178.

179.

180.

Pé
erefl EMene @u_lasaag,g‘,]eu 2 GTaT @ gisehen
syrafl HevsCausid PWsHHlD

Aw
@ =5
@ Aow
Aw?®
N
@ ymBub

Yy s  addrrefliy  Hspele,
LG Garamiomeang gaGor@Lreiy Azm’ Hé
QararGerer 2ori_& @) enanrud e Lommi 16l 60 qv
CSa;rerg,ﬁrrp@ FOONE 2 drer GLrg, elesd
Garawrid W) 2

1 180

@ o

B  uEGCsramsHne &wib
@ 9

@m Crrgmania, A, B, Cwopmid D eremm
QU w6 Siaresamer ereilHoude Camenmid
Yepsafier sgeignaer weonCui 1%, 2%, 3%
Lop@itd 4%. X -iarefl Geudler Camemitd (Denipés

A’B

sg6ipsSlen QLpL I, @ig X = T

3
) (g]%

@ 16%
B —-10%
@ 10%

-00o0-
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